PUR-1544
Trash Removal Services at County Facilities

| PUR-1544 Trash Removal Services awarded to: BFI Waste Services, LLC dba Republic Services | | | | BFI Waste Services LLC, DBA Republic Services of Hagerstown, MD | | |
|--|---|-------|-----|---|-------------|--|
| Item No. | Item Description | Unit | Qty | Unit Price | Total Price | |
| 1 | Antietam Wastewater Treatment Plant | Month | 12 | \$45.04 | \$540.48 | |
| 2 | Black Rock Golf Course | Month | 12 | \$285.02 | \$3,420.24 | |
| 3 | Conococheague Wastewater Treatment Plant – Domestic Plant Area | Month | 12 | \$258.08 | \$3,096.96 | |
| 4 | County Administration Complex | Month | 12 | \$197.36 | \$2,368.32 | |
| 5 | County Administrative Annex Building | Month | 12 | \$104.68 | \$1,256.16 | |
| 6 | County Transit Building | Month | 12 | \$107.83 | \$1,293.96 | |
| 7 | County Office Building | Month | 12 | \$475.43 | \$5,705.16 | |
| 8 | Detention Center | Month | 12 | \$1,026.47 | \$12,317.64 | |
| 9 | Day Reporting Center | Month | 12 | \$144.02 | \$1,728.24 | |
| 10 | Division of Fire and Emergency Services Special Operations Team | Month | 12 | \$35.16 | \$421.92 | |
| 11 | Hagerstown Regional Airport – 18434 Showalter Road | Month | 12 | \$107.83 | \$1,293.96 | |
| 12 | Hagerstown Regional Airport Maintenance Building – 18436 Henson Blvd. | Month | 12 | \$107.83 | \$1,293.96 | |

PUR-1544
Trash Removal Services at County Facilities

BFI Waste Services LLC, DBA Republic Services of Hagerstown, MD

| Item No. | Item Description | Unit | Qty | Unit Price | Total Price |
|-------------|--|-------|-----|------------|-------------|
| 13 | Hagerstown Regional Airport T- Hangars' Location – 18523- 18535 Henson Blvd. | Month | 12 | \$203.68 | \$2,444.16 |
| 14 | Highway Department – Northern Ave. | Month | 12 | \$269.59 | \$3,235.08 |
| 15 | Highway Department – Coffman Farms Road | Month | 12 | \$104.68 | \$1,256.16 |
| 16 | Highway Department – National Pike | Month | 12 | \$104.68 | \$1,256.16 |
| 285 | Leitersburg / Smithsburg Treatment Plant | Month | 12 | \$137.80 | \$1,653.60 |
| 18 | Martin Luther King Center, including Memorial Recreation Center | Month | 12 | \$285.02 | \$3,420.24 |
| 19 | Patrol Building | Month | 12 | \$144.02 | \$1,728.24 |
| 20 | Public Safety Training Center | Month | 12 | \$511.33 | \$6,135.96 |
| 21 | William J. Dwyer Center | Month | 12 | \$234.42 | \$2,813.04 |
| 22 | Winebrenner Wastewater Treatment Plant | Month | 12 | \$146.54 | \$1,758.48 |
| 23 | Washington County Emergency Air Unit | Month | 12 | \$57.41 | \$688.92 |
| 24 | Washington County Agricultural Education Center | Month | 12 | \$117.02 | \$1,404.24 |

PUR-1544 Trash Removal Services at County Facilities

| BFI Waste Services LLC, DB | A |
|----------------------------|---|
| Republic Services of | |
| Hagerstown, MD | |

| Item No. | Item Description | Unit | Qty | Unit Price | Total Price | |
|-------------|---|-------|-----|------------|-------------|--|
| 25 | Washington County Museum of Fine Arts | Month | 12 | \$108.54 | \$1,302.48 | |
| 26 | Sharpsburg Water Treatment Plant | Month | 12 | \$45.04 | \$540.48 | |
| 27 | Washington County Emergency Services | Month | 12 | \$172.35 | \$2,068.20 | |
| 28 | Washington County Board of Elections | Month | 12 | \$104.68 | \$1,256.16 | |
| Т | TOTAL SUM BID: ITEMS 1 through 28 | | | | \$67,698.60 | |

^{*}Corrected Calculations based on Unit Pricing

Remarks / Exceptions:

PUR-1544 Trash Removal Services at County Facilities

DISINFECTION OF CONTAINERS

BFI Waste Services, LLC DBA Republic Services of Hagerstown, MD

| r | | | | |
|---|------|-----|------------|-------------|
| Item Description | Unit | Qty | Unit Price | Total Price |
| Washout / Disinfecting of Ninety-six (96) Gallon Tote | Each | 1 | \$35.00 | \$35.00 |
| Washout / Disinfecting of Two (2) Cubic Yard Container | Each | 1 | \$95.00 | \$95.00 |
| Washout / Disinfecting of Three (3) Cubic Yard Container | Each | 1 | \$95.00 | \$95.00 |
| Washout/Disinfecting of Four (4) Cubic Yard Container | Each | 1 | \$95.00 | \$95.00 |
| Washout / Disinfecting of Six (6) Cubic Yard Container | Each | 1 | \$95.00 | \$95.00 |
| Washout / Disinfecting of Eight (8) Cubic Yard Container | Each | 1 | \$95.00 | \$95.00 |

^{*}Corrected Calculations based on Unit Pricing

Remarks / Exceptions:

N/A